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 Neural Networks 
1)  Neural Networks 

 1 ( D10-D-79) 

   : 1 

 Input  : 10 

 1 :   79 

 Output  : 1 

                 Algorithm  Train  : Conjugate Gradient 

 1 : Tan-Sigmoid(Tansig) 

 Output   :  Linear (Purelin) 

 Epochs   : 100  

 2 ( D10-D-379) 

   : 1 

 Input  : 10 

 1 :   379 

 Output  : 1 

                 Algorithm  Train  : Conjugate Gradient 

 1 : Tan-Sigmoid(Tansig) 

 Output   :  Linear (Purelin) 

 Epochs   : 100  
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 3 ( D40-D-79) 

   : 1 

 Input  : 40 

 1 :   79 

 Output  : 1 

                 Algorithm  Train  : Conjugate Gradient 

 1 : Tan-Sigmoid(Tansig) 

 Output   :  Linear (Purelin) 

 Epochs   : 100  

 4 ( D40-D-379) 

   : 1 

 Input  : 40 

 1 :   379 

 Output  : 1 

                 Algorithm  Train  : Conjugate Gradient 

 1 : Tan-Sigmoid(Tansig) 

 Output   :  Linear (Purelin) 

 Epochs   : 100  

 5 ( D43-D-79) 

   : 1 

 Input  : 43 

 1 :   79 

 Output  : 1 

                 Algorithm  Train  : Conjugate Gradient 

 1 : Tan-Sigmoid(Tansig) 
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 Output   :  Linear (Purelin) 

 Epochs   : 100  

 6 ( D43-D-379) 

   : 1 

 Input  : 43 

 1 :   379 

 Output  : 1 

                 Algorithm  Train  : Conjugate Gradient 

 1 : Tan-Sigmoid(Tansig) 

 Output   :  Linear (Purelin) 

 Epochs   : 100  

2)  MATLAB 6.5 

2.1  10 
          x=[x1 x2] 

                A=x(1:10,:) 

                B=x(11,:) 

 Y=[validation] 

 C=Y(1:10,:) 

 D=Y(11,:) 

 T=[testing] 

 E=T(1:10,:) 

 F=T(11,:) 

2.2  40 
          x=[x1 x2] 

                A=x(1:40,:) 

                B=x(41,:) 
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 Y=[validation] 

 C=Y(1:40,:) 

 D=Y(41,:) 

 T=[testing] 

 E=T(1:40,:) 

 F=T(41,:) 

2.3  43 
          x=[x1 x2] 

                A=x(1:43,:) 

                B=x(44,:) 

 Y=[validation] 

 C=Y(1:43,:) 

 D=Y(44,:) 

 T=[testing] 

 E=T(1:44,:) 

                F=T(44,:) 

            2.4  79 

                 net=newff( minmax(A),  [ 79 , 1 ] , {'tansig' , 'purelin'} ,'traincgf' ) ; 
net = init(net); 
net.trainParam.epochs = 100 ; 
net.trainParam.show=10 ; 
net.trainParam.goal=0 ; 
[net ,tr] =train(net,A,B); 

%%Validation%%
%Model selection criteria is Mean Squared Error (MSE).% 
Y=sim(net,C);
y=Y';
d=D';
e=(d-y);
p=sign(d);
OBSV=p'*p;
msevalid=(e'*e)/OBSV; 
mse_v=[ msevalid ]; 

%training round 2 % 
for loop= 2:1:10 
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loop
net.trainParam.epochs = 100 ; 
net.trainParam.show=10 ; 
net.trainParam.goal=0 ; 
[net ,tr] =train(net,A,B); 

%%Validation%%
%Model selection criteria is Mean Squared Error (MSE).% 
Y=sim(net,C);
y=Y';
d=D';
e=(d-y);
p=sign(d);
OBSV=p'*p;
msevalid=(e'*e)/OBSV; 
mse_v=[ mse_v ; msevalid ]; 

end

index = [ 1 ; 2 ; 3 ; 4 ; 5 ; 6 ; 7 ; 8 ; 9 ; 10 ]; 
S = [ index mse_v ]; 

            2.5  379 

                 net=newff( minmax(A),  [ 379 , 1 ] , {'tansig' , 'purelin'} ,'traincgf' ) ; 
net = init(net); 
net.trainParam.epochs = 100 ; 
net.trainParam.show=10 ; 
net.trainParam.goal=0 ; 
[net ,tr] =train(net,A,B); 

%%Validation%%
%Model selection criteria is Mean Squared Error (MSE).% 
Y=sim(net,C);
y=Y';
d=D';
e=(d-y);
p=sign(d);
OBSV=p'*p;
msevalid=(e'*e)/OBSV; 
mse_v=[ msevalid ]; 

%training round 2 % 
for loop= 2:1:10 

loop
net.trainParam.epochs = 100 ; 
net.trainParam.show=10 ; 
net.trainParam.goal=0 ; 
[net ,tr] =train(net,A,B); 
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%%Validation%%
%Model selection criteria is Mean Squared Error (MSE).% 
Y=sim(net,C);
y=Y';
d=D';
e=(d-y);
p=sign(d);
OBSV=p'*p;
msevalid=(e'*e)/OBSV; 
mse_v=[ mse_v ; msevalid ]; 

end

index = [ 1 ; 2 ; 3 ; 4 ; 5 ; 6 ; 7 ; 8 ; 9 ; 10 ]; 
S = [ index mse_v ]; 

2.6  50 
N=
Epochs= 
A
B
E
F
net=newff( minmax(A),  [  N , 1 ] , {'tansig' , 'purelin'} ,'traincgf' ) ; 
net = init(net); 
net.trainParam.epochs = Epochs ; 
net.trainParam.show=10 ; 
net.trainParam.goal=0 ; 
[net ,tr] =train(net,A,B); 

%Prediction% 
Z=sim(net,E);
z=Z';
z
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